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• 

Packet size is the datagram from TCP, UDP, etc. plus the 18 or 22 bytes of packet overhead. 
Example: 46 bytes of TCP + 18 bytes = 64 bytes. 

• 

Efficiency = packet size / (packet size + 20 bytes) 

Overhead = 1 – Efficiency 

• 

Overhead = 1 – 0.76 = 0.24, or 24% 

• 

Overhead = 1 – 0.987 = 0.013, or 1.3% 
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• Efficiency @512 byte packets = 96.2%, so the best the customer could ever achieve is 100 Mbps x 
96.2% efficiency = 96.2 Mbps 
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https://www.verizon.com/business/support/service-assurance-user-guides/
https://www.verizon.com/business/r3s0u4c3s/ethernet-access-to-private-ip-user-guide_en_xg.pdf
https://customertraining.verizon.com/
https://enterprisecenter.verizon.com/
https://www.verizon.com/business/support/vec/onlinehelp/guidesandtutorials/access/register/getting-started.html

